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Note : This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9½) marks each. Learners
are required to answer any Two (02) questions only.

(2×9½=19)
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1. What are primary secondary and tertiary alcohols? How are
they distinguished by Victor Meyer's test, Luca's reagent
and oxidation?
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2. Discuss the following reactions :

(a) Claisen rearrangement.

(b) Lederer- Manasse reaction.
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3. What are epoxides? How are epoxides named? Give two
methods of preparation of epoxides.
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4. Explain the following reactions and give their mechanism :

(a) Manich reaction.

(b) Benzoin condensation.
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5. Explain the following :

(a) Chemical reactions of nitroalkanes.

(b) Gabrial phthalimide synthesis.
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Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only. (4×4=16)
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1. Explain the following :

(a) Give the mechanism of Pinacol-Pinacolone
rearrangement.

(b) How phenol can be distinguished from alcohol?
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2. Explain the following :

(a) Acidic character of phenols.

(b)  MPV (Meerwein-Ponndorf-Verley) Reduction.
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3. Give the Properties of Thiols and Thioether.

���
��� 	����	 ���
��1"���	��	 <,��	 4����.

4. Why ethers boil at lower temperature than alcohols?
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5. What happens when :
(a) Formaldehyde reacts with phenols.
(b) Acetone reacts with chloroform.
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6. Discuss the general method of preparation of carboxylic acid
derivatives.
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7. Explain the following :
(a) Knoevenagel condensation.
(b) Villiger oxidation of ketone.
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8. Out of aldehyde and ketone, which is more reactive towards
nucleophilic addition reactions and why?
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